26-06-19 Issue 1 Installation Instructions
MVG Neptulink Roof Mount (SC-MVG-05)

[Parts List | Tools Required |

60086
19027 M4 S/S washer 101817
Interface Seal Black Grommet
1 x4
60820
19037 Q M8 x 20 Hex Bolt
Base Seal 1
4

@
X X2
o> ] 4 | 10SCMVGOSBC
X Back Cover x1
60085 M8 Nylon Shoulder M8 Nylon Shoulder @
M8 S/S Washer \, X
x &)

Hole Saw
@50-52mm (2")

1 x 13mm Spanner

3mm Allen Key

64000 64001 Power drill
Washer x4 | Washer x4 @8.5mm (21/64")
Parts Required Drill Bit
?/(I)ji11 0 Socket Cap 4 :gﬁi(; Washers x4 x4 M8 x25mm+ E:WM Tef- Gel

sl

i

1x Interface Seal 19027

4x M8 Nylon Shoulder washer 64000

(Smaller of the two)

4x M8 S/S Washer 60085

4x M8 x20 Hex Bolt 60816

4x Apply threadlock to

M8 threads

**Caution** Avoid any
contact of thread lock or Tef
Gel on MVG Neptulink
radome.

2x Blanking grommets 101817

4x M8 Fasteners (Not Supplied)

4x M8 Nylon Shoulder washer 64000
(Larger of the two)

1x Base Seal 19037

SCANSITRUT



Already in place (must be removed)

1x Back Cover
o
4x 60441 M4 x 10 Socket Bolt
**CAUTION**Apply Re-apply
Tef-Gel, do not over tighten.
oo,

4x 60440 M4 Sping Washer

4x 60086 M4 S/S Washer

IMPORTANT

Scanstrut does not supply fastenings to fix this product to the chosen surface. Please choose suitable fastenings for this purpose.
No liability is accepted for damage caused by incorrect installation.

The installation and assembly must be regularly inspected for evidence of damage or loose parts.

Product has been designed specifically for the mounting of approved marine electronics under normal boating conditions.

IMPORTANT

Scanstrut ne fourni pas les fixations pour sécuriser ce produit a la surface de choix. Veuillez utiliser des fixations appropriées pour cette opération.
Scanstrut déclinent toute responsabilité pour les dégats résultant d’une installation incorrecte.

Linstallation et I'assemblage doivent étre inspectés régulierement afin de déceler des dégats ou des pieces désserrées

Ce produit a été spécifiquement concu pour le montage d'appareils d'électronique marine approuvés dans des conditions de navigation normales.

WICHTIG

Befestigungsteile flir die Montage dieses Produkts auf der gewahlten Oberflache. Bitte wéhlen Sie geeignete Befestigungsteile flr diesen Zweck.
Fur Schaden aufgrund unsachgemaBen Einbaus wird keine Haftung ibernommen.

Der Anbau und die Baueinheit mussen regelmaRig auf Anzeichen von Schaden oder lockere Teile geprift werden.

Dieses Produkt wurde spezifisch fir die Befestigung genehmigter Elektronikgerate fur die Schifffahrt unter normalen Bootsfahrtsbedingungen entwickelt.

IMPORTANTE

Scanstrut non fornisce dispositivi per fissare questo prodotto alla superficie prescelta. Scegliere dispositivi di fissaggio adatti a questo scopo.
Si declina qualsiasi responsabilita per danni causati da un‘installazione erronea.

Linstallazione e il montaggio devono essere ispezionati con regolarita per verificare la presenza di danni o di pezzi allentati.

Questo prodotto é stato studiato appositamente per il supporto di apparecchiature elettroniche navali approvate in normali condizioni di navigazione.

IMPORTANTE

Scanstrut no suministra anclajes para fijar el producto sobre la superficie elegida. Escoja el sistema de fijacion mas adecuado para este propésito.
No se aceptara ninguna responsabilidad por los dafios causados por una instalacién incorrecta.

La instalacién y ensamblaje debera inspeccionarse regularmente, comprobando cualquier evidencia de daios o piezas aflojadas.

Este producto ha sido especificamente disefiado para el montaje de equipos electronicos marinos aprobados bajo condiciones normales de navegacion.

E-mail: sales@scanstrut.com E-mail: usasales@scanstrut.com




